
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

1st Month, 1st Week, 5th Day Unit # 1: Factors and Multiples

Q.1. Choose the correct options.  (1x 5 = 5) ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX

(i) What is prime factorization of 12 ÅÅÅÅGGGGŠŠŠŠ‹‹‹‹~~~~HHHHìììì???? 12

(a) 2×2×2 (b) 2×2×3 (c) 2×3×3 (d) 4×3

 (ii) Expanded form of 3
2

×5
3

 is ÅÅÅÅÂÂÂÂWWWW””””{{{{))))####ƒƒƒƒðððð((((̂^̂̂ìììì:::: 3
2

×5
3

(a) 3×3×5×5 (b) 2×2×2×5×5×5

(c) 3×3×5×5×5 (d) 3×3×3×5×5

(iii) Expanded form of 2
3

×5
2

 is ÅÅÅÅÂÂÂÂWWWW””””{{{{))))####ƒƒƒƒðððð((((̂^̂̂ìììì:::: 2
3

×5
2

(a) 2×2×2×5 (b) 3×3×5×5

(c) 2×2×5×5 (d) 2×2×2×5×5

(iv)  What is expanded form of 3
2

×2
3
.

ÅÅÅÅÂÂÂÂWWWW””””{{{{))))####ƒƒƒƒðððð((((^̂̂̂ììììXXXX 3
2

×2
3

(a) 3×3×3×2×2 (b) 3×3×2×2

(c) 3×3×3×3×2 (d) 3×3×2×2×2

(v) Which of the following is expanded form of 5
3

×7
2

?

ÅÅÅÅÂÂÂÂWWWW””””{{{{))))####ƒƒƒƒðððð((((̂^̂̂HHHHìììì???? 5
3

×7
2

(a) 3×3×3×3×3×7×7 (b) 5×5×5×7×7

(c) 3×3×3×3×3×2×2×2×2×2×2×2 (d) 5×5×5×2×2×2×2×2×2×2

Q.2.Write these index notation into expanded form. (0.5×4=2)

ZZZZ&&&&++++ooooââââŸŸŸŸÃÃÃÃÂÂÂÂWWWW””””{{{{̂̂̂̂~~~~KKKKXXXX
(i) 2

4

×3
5

×5
2

(ii)    2
3

×3
2

×5
3

(iii) 3
3

×11
2

×13
3

(iv)   5
2

×7
3

×11
4

Q.3.Find the number that is the product of the most prime

numberd below 100. (1×3=3)
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